Вариант 10
I   Выберите правильный ответ.

               Образец выполнения:

     О.  Financial documents …B… by the director and the accountant.

            A    signed                         B     are signed                           C    was signed 

1. How many employees ….. there?

A    are                       B   is                        C     to be

2. Don’t worry. You …..at the airport by a company driver.

A   are met                   B    were met           C    will be met

3. Smith and other classical economists ….. when the industrial revolution had begun.

A    are writing            B   were writing        C   will be writing

4. Economic decisions ….. according to the customs of the tribe.

A      are taken              B    take                    C have taken

5. In 1999 Russia’s exports of oil products ….. by 2,5 million tons.

A      will decrease        B    had decreased      C   decreased

6. ….. I smoke here?

A     can                        B   must                       C    may

7. Anyone with a regular income must …..income tax on their earnings.

A    to pay                     B  pay                          C  pays

8. ….. in new operations is essential.

A    invest                     B   to invest                 C   invested

9. For instance, in India, the company ….. the dividends has to pay dividend distribution tax at  12.5%.

A     paying                   B    paid                        C  pays

10. If I were you,  I ….. money in a corporation in order to make a profit.

A    will invest              B   invested                  C   would invest   

II   Переведите текст устно и определите, истинны (True) или ложны (False) следующие утверждения:

1. Surface introduced sales teams of four people.

2. Surface worked fast because he didn’t want the uncertainty to last a long time.

3. Surface communicated his plans to all employees in the same way.

4. High flyers are people who fly when they go on business trips.

5. Someone who is anxious is worried.

6. ‘Refusenik’ is an informal word meaning someone who tends to refuse all new ideas.

                     Образец выполнения:

1. False

     The most important reform concerned the salesforce. Instead of having one sales agent covering an area, Richard Surface introduced teams of three – an area manager and two agents – covering a wider area. It was a delicate task, not just because it involved cutting more than 1,000 jobs but because it also meant pay cuts for some who stayed. While some agents were promoted to area managers, the two “supporting” agents had less responsibility.

    Mr Surface insisted on implementing this new structure in a few weeks. He believed the salesfofce was demoralized and further uncertainty would be bad for the company. “We go fast around here. We don’t plan everything in micro detail. We accept we are going to make mistakes.” He has some blunt advice for companies when it comes to getting staff behind a big upheaval: “Too many companies think you have to communicate with everybody in the same way. You have to segment your staff for the same reasons and in the same way as you segment your customers. ”

   Mr Surface identifies three types of employee: high flyers, “anxious” people and the “cynics and refuseniks”. Anxious people want certainty and leadership, he argues, while refuseniks are basically lost causes. Many managers make the huge mistake of trying to convince refuseniks and turn them round.
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